hERET

0=

53 5% A BAIE S BA % F 4B FCES

B 75 < Wl 552 % 3006

M E TR 5. ARESEIEAE 3006

7 84 £9 @ ¥ 40 3007

37 {1 Bl 7K S e B TR AR % 3010

B 265 5 75 552 % 3011

TP SARR B PR W SR - BRI EAFE | 3012

e T EM 3013

SESESA % 595 2 AR 75 40 3014

ik =] 30156

471 58 3% B3 B2 % 3016

STER % 3017

SEEEE ST EA %= 3018

i LW BRAE 3021

HE T e 3022

19843 558 % 3023

[E2] B 55 745 E51 71> 346 558 % 3024

tesa 3025
IRSEE SR UN S S

B 7R4H 3026

tt=48 3030

B oA 4R 3027

B TIES% A TE9sssE 3031

B8 8 4 3032

BAAEFIFREE % 3033

‘ﬁ%ﬂ“éiiséza 3034

orly=t

ZlﬁynﬁﬁﬁM

111 23BASBESRRFEFNE

r”"/

552 81 5 57
£55) 581 ST
550 B 37
5250 B9 ST
E5 R B9 37
520 B9 37
5 5R) B9 57
520 B 37
£5 501 521 37
£585R) B 37
£58 501 (591 ST
552 R I ST
£S5 B2 37
£525) 591 ST
5250 B9 37
5520 BRI ST
55238 B8] ST
55230 ] ST
£55)) 581 37
B350 B 37
53581 581 37
B3R 35 37
52581 B¥ 57
58501 581 37

SR I ESRIEBRTERE | FURBAER)ABAHBB(ER) -

ES—TEAES

~

~

~

¢

EHIRI B
B2 A 55 =
£52 R 2 ST
2RI S5 =2
BRI 3537
EBCHI S5 =T
At =
BRI =
BRI =
BRIz =
BRIz =
E2 Al S5 =37
E2 A S5 3
B2 A 55
552 R ¥
B2 Al S5 57
E2 A S5 =
E22 08I S5 =
5 A 537
52 RI B ST
520 5 24
53 T4 3B
520 5 24
2R

¢

S>FIEES
55T EESE
55 F i 3
SRIAR
SRIAER
SRIAR
$>FIEESE
5> FIEESE
5> FIEESE
%5 T} EESE
55 T EE SR
55 T EESE
%5 FEE SR
55 T EESE
53 %5} fih ¥
25 T 43R
53 Fl #th 3
53 T4 3B
5> T IE
ST
53R
SIFIEESE

(0]

6224 0B H/MAMEAER—ROSH

(05) 272-0188
https://www.nhu.edu.tw

O]
ey E‘.E
[



107 + 108 + 1092 ERASREMR 2R

R—

110BEE RS EMR 98.64% Fenngs) SHERZ

1NMESEFEHEABRRIDBEERER(DIEAE)

BN R IRE el o |
BB AR EARE | e |—nwm |  moR 242 wemem ;
TR s |FRLASTE| FEED | W= | EER
ABE SEIZE 100 SAM

%—ﬁ [T}
wrmsHEEanE | ot | 208 |30 (9768 100 M(BE)| S | 8 |14
FRARAT 12%(2)
%:m {J1
BIRE RS S FIARY m?ﬁﬁf 1658 (308 h@ 76 B 100 B(ES)| %g 148 (18
B 12(RE)~25%()
E=R

PUEEETT IR |
WRIRE RIS B FARN arm som| 168 | 158 {076 8 15
80 25(RE)~50%()
i 2
WRIRE RIS E S AR g:ff)"g 88 5B W76 1 18
#8801 50(F=)~65%() 3
ERR T
BAIRERIDASREMN ,:: fo,"f; 58 W76 8 | 18
A 65(F=)~75%(=) |
EP - <
BRIRERIEESRARN g: g,";? 3E W76 ® | 18
A 75(FE)~88%(E) ,
E R MU TR ;
Hitn (#9420 M) 076 % 18

1N BFEFHANENSENDE[MR(DEAS)

BN P BERS
EAHEED IR 2+2 SR IPE EEB| £8 | 85—
AN P B ER L
BT BB | il |l mmgs HED | KEDE | 56
mE | AW | SSAD 100 SAS
E—1R
e o IR S ' - | ==
:ﬁifzs;rfjﬁamem s | 20 25 | 30728 (¥ 76 | 100 B(RE) | ey (858 (18
i e T 2
BRIRER SESRIER ¥ 76 B 100 B(RS 8E (18
w1207y~ 2sm | Psimm | 16581 305 (R | e
E=R
IR e G
BRIRETR EEARER 76 & 48 18
0 25cr )~ sowmy | P | 168 1588 s
SBI0#R . 4 S
PRFAREEARER | KIEERE 76 48 18
] 510K 2)~75%(=) 12N e
EFa ) =
SRR DEESRER | iSRS 3 rr’\J 76 8 ;g 48 18
#81 75(F2)~88%()
Hits RIS %(’J 76 B o |48 |1 H

it BRSKAERRREREANGEE  BE: « BNSBRERE « B5—CHES - EEEHE - SRS
EEREFHEEFMRE - UAREREULASRE -




